Name_________________________________                                                        Class_____
Grade 6: Fractions Unit Task
Use the information below to answer questions 1 and 2.

Jorge, Christopher and Amanda all bought candy bars of the same size from the store.  Below is a chart stating how much they paid for each candy bar.  

	Person
	Candy Bar
	Prince

	Jorge
	Regular
	$0.48

	Christopher
	Almond
	$0.52

	Amanda
	Caramel
	$0.50


Each of them broke their candy bar into different pieces shown below
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1.

a.) Christopher wants to share his candy bar with one other person.  Who is he able to make an even trade with?


Show all work using fractions

Person he can share with:___________________________________________

b.) On the lines below explain why Christopher can’t share fairly with the other person.

_____________________________________________________________________

_____________________________________________________________________

_____________________________________________________________________

_____________________________________________________________________
2.  If Christopher eats one piece from his bar and Jorge eats two pieces from his bar, who has the most candy bar left over.  

Show all work and use the symbols >, <, = to represent your answer.  Make sure you label each fraction with the name of the student. 

Answer_____________________
Use the information below to answer parts a, b and c for question 3
3. A recipe for banana oat muffins calls for [image: image2.png]


 of old fashioned oats, which need to cook for 25 min at 350°.

a.) If you are making [image: image3.png]


 of the recipe, how many cups of oats are needed?


Show all work

b.) If you place [image: image4.png]


 cups of banana into the muffin mix, how many cups of ingredients do you have all together?


Show all work

c.) On the lines below explain how you found half the amount of the oats from the original recipe.

_____________________________________________________________________

_____________________________________________________________________

_____________________________________________________________________

_____________________________________________________________________

_____________________________________________________________________

_____________________________________________________________________

Use the information below to answer parts a and b for question 4.
1. Tito is throwing a holiday brunch at work.  He has [image: image5.png]


 pound of coffee beans to make a pot of coffee.  45 people attend the holiday brunch.

a.) How many pots of coffee can Tito make for the holiday brunch?


Show all work

b.) If [image: image6.png]


 pots of coffee were consumed at the brunch, how many pots of coffee are left over?


Show all work

Use the information below to answer parts a, b, and c for question 5.
2. An aquarium that has 6 fish has the following dimensions:


length: 12 inches

width: 8 inches

height: 12 inches
a.) How many cubic inches of water can the aquarium hold?


Show all work
b.) If a gallon of water uses 231 cubic inches of space, how many gallons of water are needed to fill this aquarium?


Show all work
c.) On the lines below explain how you found how many gallons of water the aquarium uses?

_____________________________________________________________________

_____________________________________________________________________

_____________________________________________________________________

_____________________________________________________________________

_____________________________________________________________________

___________________________________________________________________
